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Run 6131 mpswise, BCM: All
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Run 6131 mpswise, lasPow: All Run 6131 mpswise, lasPow: Beam OFF
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Run 6131 mpswise, bpmBx: All

x10
[ - Entries: 365096
: Mearn: -0.3518 < 0020
250 —
: Std Dey- 119088 +- 000714
200 |{—
150 {—
100 —
50—
ID_IIIIIIIIIIlIIIIlIIIIIIIIIl II|III
-250 —200 -150 —-100 —H0 0 50
bpmBx
Run 6131, mpswise, bpmBx: Beam ON, Laser ON
BOOD — Entries: 108758
2000 = Mean: 0.5029 +- 0.0000
E Sitd Dy 0002 - 00000
6000 —
5000 —
4000 —
3000 —
2000 —
1000 —
D:T L1 ! A I I
=0.96 -0.86 -0.B4 -0.82

bpmBx

BOODOD

70000

60000

50000

40000

30000

20000

10000

12000

10000

BO0D

6000

4000

2000

Run 6131 mpswise, bpmBx: Beam OFF

Enlries: 70012

Meari: 15586 +/- 0.0047

Sid Dev: 13318 - 0.0034

—250

—200

-150

-100

-50

Run 6131, mpswise, bpmBx: Beam ON, Laser OFF

Entries: 128502

Mear: -0.5030 «- 0UDO00

Sid Dev: 00707 4~ 0.0000

|
—




250

200

150

100

50

4500

4000

3500

3000

2500

2000

1500

1000

500

®,
—t
I::L_.

Run 6131 mpswise, bpmBy: All

— Entries: 385098

Mean: 0.5ETE +- 0.0016

Sid Dev: 09511 &~ 0.00711

I
—25

0

—200

-150 -100 -50 D 50

Run 6131, mpswise, bpmBy: Beam ON, Laser ON

Enitries: 108758

Mean: 09TET +/- 00000

Sbdl Drery: 00092 4~ 0.0000

BOODOD

70000

60000

50000

40000

30000

20000

10000

6000

5000

4000

3000

2000

1000

Run 6131 mpswise, bpmBy: Beam OFF

- Enlries: 70012

Meary: -0. 7542 &/- DUDOAT

Sid Dev: 13314 - 0.00%3

—250

—200 -150 —100 -50 0 50

Run 6131, mpswise, bpmBy: Beam ON, Laser OFF

Entries: 128502

Mear: 0CATET +/- 00000

Sid Dev: 00092 4 0.0000




AccO/NAccO

AccO/NAccO

25

20

15

10

25

20

15

10

Run 6131 mpswise, beam ON, laser ON

|

IIII|IIITI:F:H.|IIII|IIII|IIII

LAY

(AT N T T TN N TN N T T N T T N A T N TN O A
100 200 300 400 500 600 700 8OO
mpsCoda
Run 6131 mpswise, beam OFF, laser ON
T A A SNET AT S ANANEN TN N AN NTRENE NAE AEE N (1 TR
100 200 200 400 500 600 700 8OO

mpsCoda

«10°

*10

Accl/MNACCD

Accl/NACeD

Run 6131 mpswise, beam ON, laser OFF

25
20
15

10

.|::|II|IIIIIIIIIIIIIIIIIIII|IIIIIIII|III.'-"5;-”:,:\:.l

100 200 300 400 500 600 700 BOO
mpsCoda

IE.lIIIIlIIII|IIII|IIII|IIII

Run 6131 mpswise, beam OFF, laser OFF

25

20

15

10

.D:_J_Ll|||||||H|'|||l||||||||||I|I||||1I|l|||l|!||!|lll}~’.'|ﬂ
100 200 300 400 500 600 700 800
mpsCoda



BCM

BCM

140

120

100

80

60

40

20

140

120

100

BO

60

40

20

Run 6131 mpswise, beam ON, laser ON

it d I TR LUTT ATy T "LI ¥ 1T
— A I
B i
_I 1 1 | I I | | I I | I I | | I | | ] 1 1 1 | ] 1 1 | I ] 1 1 | | 1 1 1
100 200 300 400 500 600 {00 8OO
mpsCoda

Run 6131 mpswise, beam OFF, laser ON

R A N T N TN N T N N T N W N A N N O OO OO

100 200 300 400 500 G600 00 BOO

mpsCoda

«10°

*10

BCM

140

120

100

B0

60

40

20

BCM

140

120

100

B0

60

40

20

Run 6131 mpswise, beam ON, laser OFF

IR

! SRR AL LN L LI LA My
ERE S
oy L A1 I
IO T T T T T T T T T T N N T A MO O B O

100 200 300 400 B00 GO0 700 800

mpsCoda
Run 6131 mpswise, beam OFF, laser OFF
I N T T T T T [ T T [ T T T T T T O O 0 Y A A P

100 200 300 400 R00 GO0 700 800

mpsCoda

x10"

=10



Cav Power

Cav Power

Run 6131 mpswise, beam ON, laser ON Run 6131 mpswise, beam ON, laser OFF

;: = —.i== .-.=== = = g B

=z:: = ii o3I = B |
2000 — z 2000 —
B © B
1500 |+ 1500 —
1000 — 1000 —
500 — 500 —

{]:—|| TN T T T N T TN T N T T A N T T A N T T N T T NN 0 N A |:»«1'I{i|$I ID___-I-:I:I:l I T T O O = T T T O e et el ol ] e O O s T OB Lok T O Tk | :'-sz'lllzii::i
100 200 300 400 500 600 700 B00 100 200 300 400 500 600 700 B00
mpsCoda mpsCoda
Run 6131 mpswise, beam OFF, laser ON Run 6131 mpswise, beam OFF, laser OFF

. g .

| 5 |
2000 — z 2000 —
B © B
1500 — 1500 —
1000 — 1000 —
500 — 500 —

.|::|r|—|||||||||||||||||||||||||||||||||||||||||:!l~1'|!'j|::1I .|j|:—||:|||||||:¥|:||5F||||||:|||:|=||||||:|5|||:|F||:|5||:!l--’.'||l:i|::1I
100 200 300 400 500 600 700 BOO 100 200 300 400 500 600 700 8O0

mpsCoda mpsCoda



BPM Ax

BPM Ax

0.6

0.4

0.6

0.4

0.2

Run 6131 mpswise, beam ON, laser ON

_IIgll|III|III|III|III|III|III|III|

: v thoa i . vk
-y LI 1 TR T 1
L1 1 1 | | I | | L1 1 1 | | I | | L1 1 1 | | I | I | I | | L1 1 x1ﬂa
200 300 400 500 GO0 700 BOO
mpsCoda

Run 6131 mpswise, beam OFF, laser ON

I T N TN TN T T T AN T T T T T N T T A A A NN -7 [

e —————— kL R
[ —_

200 300 400 500 600 700 BOO
mpsCoda

BPM Ax

BPM Ax

0.6

0.4

0.6

0.4

0.2

Run 6131 mpswise, beam ON, laser OFF

EII|III|III|III|III|III|III|III|

Ty ll+ g e il A

1 1 1 1 | L 1 1 1 | L 1 1 1 | 1L 11 1 | L 1 1 1 | L 1 1 1 | 1 1 11 | L 1 1
200 300 400 500 600 700 BOO

mpsCoda

Run 6131 mpswise, beam OFF, laser OFF

200 300 400 500 600 700 800
mpsCoda




BPM Ay

0.8

0.6

0.4

0.2

Run 6131 mpswise, beam ON, laser ON

Run 6131 mpswise, beam ON, laser OFF

BPM Ay

0.6

0.4

p.2

L T [

- { -

| E |

[ o 08—

— 06—

. 0.4

. 02

LUK b O [11 ] OO T noom O LRI TLRULTTUR N LI | D AT
2 02—

wi I AN A R T A AR AT AN T AN AR AN A S A AN RN AR 2 [ x T ool b b b b b b b xie?

100 200 300 400 500 600 700 800 100 200 300 400 B00 GO0 700 800
mpsCoda mpsCoda
Run 6131 mpswise, beam OFF, laser ON Run 6131 mpswise, beam OFF, laser OFF
L ey [
<L

- = T

[ o 08—

— 06—

= 0~ 1

i i el : L Ep - ; $

1§ 3 ; 02— : !

- i = ! :

| | ! !

| | i |

N o' | |

: | | - | |

= i 1R b i3 p2— :

i o o B 20 5

_||||||||||'||||-||||||||..||||||||||||||||||.-||:!l{'|l‘.'j|::1I _l||-||||||||||||||||||||||F|||||||||||r.|||||:!l--’.'||l}::1I

100 200 300 400 R00 600 700 800 100 200 300 400 R00 GO0 700 800

mpsCoda mpsCoda



EPM Bx

BPM Bx

50

-50

-100

-150

—200

—250

50

—-50

—100

-150

—200

—-250

Run 6131 mpswise, beam ON, laser ON

.|-IIII|IIII|IIII|IIII|IIII!IIII|I

100 200 300 400 500 600 700 BOO
mpsCoda

Run 6131 mpswise, beam OFF, laser ON

.|-IIII|IIII|IIII|IIII|IIII_LIIII|I

100 200 300 400 500 600 700 BOO
mpsCoda

«10°

*10

EFM Bx

BEPM Bx

50

50

-100

-150

—200

—250

50

50

-100

-150

—200

—250

Run 6131 mpswise, beam ON, laser OFF

I I BN AT AT AT AN A A AN T A AN AT A N AT AT A AN AT
100 200 300 400 B00 GO0 700 800
mpsCoda
Run 6131 mpswise, beam OFF, laser OFF
I I BN AT AT AT AT A T AN T A AN AT A A T AT A AN T A
100 200 300 400 R00 GO0 700 800
mpsCoda

x10"

=10



BPM By

BPM By

50

—-50

-100

-150

—200

—-250

50

-50

-100

-150

—200

—250

Run 6131 mpswise, beam ON, laser ON

_|IIII|IIII|IIII|IIII|IIIIIIIII|I

100 200 300 400 500 600 700 BOO
mpsCoda

Run 6131 mpswise, beam OFF, laser ON

_|IIII|IIII|IIII|IIII|IIII_]IIIIlI

100 200 300 400 500 600 700 BOO
mpsCoda

«10°

*10

BPM By

BPM By

50

—50

-100

-150

—200

—250

50

50

-100

-150

—200

-250

Run 6131 mpswise, beam ON, laser OFF

;_II T T T T T T N T TN N N T T N T T N T N A O A A A
100 200 300 400 B00 GO0 700 800
mpsCoda
Run 6131 mpswise, beam OFF, laser OFF
:I_I A N T N T N N N N N TN T T T T AN TN T T A S N A0 N I AN O
100 200 300 400 R00 GO0 700 800
mpsCoda

x10"

=10



